PR Number: TF-2024-11-03225

PPMP Number: PPMP-2025-110624-0784

Office: PCC

Purpose: For center operation and office maintenance use.

No.	Item Name	Quantity	Quarter	MOP	Status
1	Alcohol, Ethyl, 1 Gallon	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 588.00 Quantity: 1 Total Cost: 588.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
2	Alcohol, Ethyl, 1 Gallon	2	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 588.00 Quantity: 2 Total Cost: 1,176.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
3	Alcohol, Ethyl, 1 Gallon	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 588.00 Quantity: 1 Total Cost: 588.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
4	Alcohol, Ethyl, 1 Gallon	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 588.00 Quantity: 1 Total Cost: 588.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
5	Ballpen 50 Pieces, Blue	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 350.00 Quantity: 1 Total Cost: 350.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
6	Bond Paper, 80 gsm, A4	15	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 250.00 Quantity: 15 Total Cost: 3,750.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
7	Bond Paper, 80 gsm, A4	16	4	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 250.00 Quantity: 16 Total Cost: 4,000.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
8	Bond Paper, 80 gsm, A4	15	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 250.00 Quantity: 15 Total Cost: 3,750.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
9	Bond Paper, 80 gsm, A4	11	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 250.00 Quantity: 11 Total Cost: 2,750.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
10	Bond Paper, 80 gsm, Long	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 270.00 Quantity: 1 Total Cost: 270.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
11	Bond Paper, 80 gsm, Long	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 270.00 Quantity: 1 Total Cost: 270.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
12	Bond Paper, 80 gsm, Long	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 270.00 Quantity: 1 Total Cost: 270.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
13	Bond Paper, 80 gsm, Long	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 270.00 Quantity: 1 Total Cost: 270.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
14	Chlorine Granules, 1 Drum	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 8,288.00 Quantity: 1 Total Cost: 8,288.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 1 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
15	Correction Tape	2	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 30.00 Quantity: 2 Total Cost: 60.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 9 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
16	Correction Tape	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 30.00 Quantity: 2 Total Cost: 60.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 9 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
17	Correction Tape	3	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 30.00 Quantity: 3 Total Cost: 90.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 9 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
18	Correction Tape	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 30.00 Quantity: 2 Total Cost: 60.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 9 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
19	Dishwashing Liquid Soap, Refill 350ml	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 120.00 Quantity: 3 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
20	Dishwashing Liquid Soap, Refill 350ml	3	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 120.00 Quantity: 3 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
21	Dishwashing Liquid Soap, Refill 350ml	3	4	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 120.00 Quantity: 3 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
22	Dishwashing Liquid Soap, Refill 350ml	3	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 120.00 Quantity: 3 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
23	Expanding Envelope, Legal, Blue	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 18.00 Quantity: 10 Total Cost: 180.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
24	Expanding Envelope, Legal, Blue	10	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 18.00 Quantity: 10 Total Cost: 180.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
25	Expanding Envelope, Legal, Blue	10	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 18.00 Quantity: 10 Total Cost: 180.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
26	Expanding Envelope, Legal, Blue	10	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 18.00 Quantity: 10 Total Cost: 180.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
27	Folder, Expanded, Long (Light Blue)	5	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 29.00 Quantity: 5 Total Cost: 145.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
28	Folder, Expanded, Long (Light Blue)	5	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 29.00 Quantity: 5 Total Cost: 145.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
29	Folder, Expanded, Long (Light Blue)	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 29.00 Quantity: 5 Total Cost: 145.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
30	Folder, Expanded, Long (Light Blue)	5	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 29.00 Quantity: 5 Total Cost: 145.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
31	Liquid Bleach	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 1 Total Cost: 180.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
32	Liquid Bleach	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 1 Total Cost: 180.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
33	Liquid Bleach	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 1 Total Cost: 180.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
34	Magazine/Data File Box, Horizontal, Legal Size (Single), Color Blue/Royal Blue	12	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 193.00 Quantity: 12 Total Cost: 2,316.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
35	Magazine/Data File Box, Horizontal, Legal Size (Single), Color Blue/Royal Blue	12	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 193.00 Quantity: 12 Total Cost: 2,316.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
36	Magazine/Data File Box, Horizontal, Legal Size (Single), Color Blue/Royal Blue	9	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 193.00 Quantity: 9 Total Cost: 1,737.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
37	Magazine/Data File Box, Horizontal, Legal Size (Single), Color Blue/Royal Blue	7	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 193.00 Quantity: 7 Total Cost: 1,351.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 40 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
38	Masking Tape, 1" x 25 yards	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 47.00 Quantity: 1 Total Cost: 47.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 4 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
39	Masking Tape, 1" x 25 yards	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 47.00 Quantity: 1 Total Cost: 47.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 4 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
40	Masking Tape, 1" x 25 yards	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 47.00 Quantity: 1 Total Cost: 47.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 4 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
41	Masking Tape, 1" x 25 yards	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 47.00 Quantity: 1 Total Cost: 47.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 4 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
42	Masking Tape, 2" x 25 yards	2	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 2 Total Cost: 176.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 8 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
43	Masking Tape, 2" x 25 yards	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 2 Total Cost: 176.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 8 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
44	Masking Tape, 2" x 25 yards	2	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 2 Total Cost: 176.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 8 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
45	Masking Tape, 2" x 25 yards	2	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 2 Total Cost: 176.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 8 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
46	Nylon Cord/Wonder Cord, 4mm Approx. 36 yds.	2	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 58.00 Quantity: 2 Total Cost: 116.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
47	Nylon Cord/Wonder Cord, 4mm Approx. 36 yds.	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 58.00 Quantity: 1 Total Cost: 58.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
48	Nylon Cord/Wonder Cord, 4mm Approx. 36 yds.	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 58.00 Quantity: 1 Total Cost: 58.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
49	Nylon Cord/Wonder Cord, 4mm Approx. 36 yds.	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 58.00 Quantity: 1 Total Cost: 58.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
50	PEN BALL POINT 0.7MM BLACK 50PCS PACK	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 798.00 Quantity: 1 Total Cost: 798.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 1 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
51	Paper Board, 180gsm White LONG, 50sheets per packs	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
52	Paper Board, 180gsm White LONG, 50sheets per packs	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
53	Paper Board, 180gsm White LONG, 50sheets per packs	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 2 Total Cost: 494.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
54	Paper Board, 180gsm White LONG, 50sheets per packs	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
55	Paper, Bond, Short, S-24, 80 gsm	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 220.00 Quantity: 1 Total Cost: 220.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
56	Paper, Bond, Short, S-24, 80 gsm	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 220.00 Quantity: 1 Total Cost: 220.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
57	Paper, Bond, Short, S-24, 80 gsm	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 220.00 Quantity: 1 Total Cost: 220.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
58	Paper, Bond, Short, S-24, 80 gsm	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 220.00 Quantity: 1 Total Cost: 220.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
59	Pen, Sign, 0.4mm, Gel type, Black	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 288.00 Quantity: 1 Total Cost: 288.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
60	Pen, Sign, 0.4mm, Gel- type, Blue	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 288.00 Quantity: 1 Total Cost: 288.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
61	Pen, Sign, 0.4mm, Gel- type, Blue	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 288.00 Quantity: 1 Total Cost: 288.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
62	Pen, Sign, 0.4mm, Gel- type, Blue	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 288.00 Quantity: 1 Total Cost: 288.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
63	Pencil, Lead/Graphite, with Eraser	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 1 Total Cost: 118.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 2 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
64	Pencil, Lead/Graphite, with Eraser	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 1 Total Cost: 118.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 2 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
65	Permanent Marker, Black, Broad tip, 12pcs	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 576.00 Quantity: 1 Total Cost: 576.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
66	Permanent Marker, Blue, Broad tip, 12pcs	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 576.00 Quantity: 1 Total Cost: 576.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
67	Sign Pen, Extra Fine Tip, Black	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
68	Sign Pen, Extra Fine Tip, Black	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
69	Sign Pen, Extra Fine Tip, Black	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
70	Sign Pen, Extra Fine Tip, Red	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 247.00 Quantity: 1 Total Cost: 247.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 1 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
71	Soap, Dishwashing Paste 400g	3	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 3 Total Cost: 264.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 10 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
72	Soap, Dishwashing Paste 400g	3	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 3 Total Cost: 264.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 10 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
73	Soap, Dishwashing Paste 400g	3	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 3 Total Cost: 264.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 10 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
74	Soap, Dishwashing Paste 400g	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 88.00 Quantity: 1 Total Cost: 88.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 10 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
75	Soap, Hand, 60g per pack	3	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 25.00 Quantity: 3 Total Cost: 75.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 12 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
76	Soap, Hand, 60g per pack	3	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 25.00 Quantity: 3 Total Cost: 75.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 12 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
77	Soap, Hand, 60g per pack	3	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 25.00 Quantity: 3 Total Cost: 75.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 12 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
78	Soap, Hand, 60g per pack	3	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 25.00 Quantity: 3 Total Cost: 75.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 12 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
79	Staple Wire #35, 26/6 Leg length, 6mm (1/4"), 5,000 staples/pieces	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 1 Total Cost: 118.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
80	Staple Wire #35, 26/6 Leg length, 6mm (1/4"), 5,000 staples/pieces	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 1 Total Cost: 118.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
81	Staple Wire #35, 26/6 Leg length, 6mm (1/4"), 5,000 staples/pieces	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 1 Total Cost: 118.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
82	Staple Wire #35, 26/6 Leg length, 6mm (1/4"), 5,000 staples/pieces	2	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 118.00 Quantity: 2 Total Cost: 236.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 5 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
83	Stick Glossy Photo Paper Sticker 135gsm, A4 size	3	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 199.00 Quantity: 3 Total Cost: 597.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
84	Stick Glossy Photo Paper Sticker 135gsm, A4 size	5	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 199.00 Quantity: 5 Total Cost: 995.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
85	Stick Glossy Photo Paper Sticker 135gsm, A4 size	6	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 199.00 Quantity: 6 Total Cost: 1,194.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
86	Stick Glossy Photo Paper Sticker 135gsm, A4 size	6	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 199.00 Quantity: 6 Total Cost: 1,194.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
87	Tape, Packaging, 2" x 100 yards, Tan	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 68.00 Quantity: 1 Total Cost: 68.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
88	Tape, Packaging, 2" x 100 yards, Tan	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 68.00 Quantity: 1 Total Cost: 68.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
89	Tape, Packaging, 2" x 100 yards, Tan	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 68.00 Quantity: 1 Total Cost: 68.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 3 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	МОР	Status
90	Toilet Bowl Cleaner, at least 1 liter	1	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 200.00 Quantity: 1 Total Cost: 200.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
91	Toilet Bowl Cleaner, at least 1 liter	1	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 200.00 Quantity: 1 Total Cost: 200.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
92	Toilet Bowl Cleaner, at least 1 liter	1	1	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 200.00 Quantity: 1 Total Cost: 200.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
93	Toilet Tissue Paper, 2 Ply	2	2	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 2 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
94	Toilet Tissue Paper, 2 Ply	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 2 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
95	Toilet Tissue Paper, 2 Ply	2	3	Competitive Bidding	PO #: VSU-GOODS-25-29-126 (TF) Bid Price: 180.00 Quantity: 2 Total Cost: 360.00 PO Amount: 22,524.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-01-2025-07-168 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
96	White Folder / File Folder, Legal	5	2	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 9.00 Quantity: 5 Total Cost: 45.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
97	White Folder / File Folder, Legal	5	4	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 9.00 Quantity: 5 Total Cost: 45.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT

No.	Item Name	Quantity	Quarter	MOP	Status
98	White Folder / File Folder, Legal	5	3	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 9.00 Quantity: 5 Total Cost: 45.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT
99	White Folder / File Folder, Legal	5	1	Competitive Bidding	PO #: VSU-GOODS-25-29-118 (TF) Bid Price: 9.00 Quantity: 5 Total Cost: 45.00 PO Amount: 31,091.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-01-2025-08-190 Delivered Qty: 20 Received By: Joana Lin C. Sy Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: DRAFT